

$$\log_r 1 = r_m \quad 2 \log_r r + \log_r r = r_m \quad \log_r r = \frac{r_m - 1}{r} \quad - \checkmark$$

$$\log_r r = \frac{1}{r} \log_r r = \frac{1}{r} (\log_r r + \log_r r) = \frac{1}{r} \left(r + \frac{r_m - 1}{r} \right) = \frac{r_m + r}{r}$$

$$\left(\frac{r}{r} \right)^{1 - r_m} = \left(\frac{r}{r} \right)^{r_m r} \quad r_m r = 1 - r_m \quad r_m r + r_m - 1 = 0 \quad - \wedge$$

$$r_m r + r_m - 1 = 0 \quad (r + r)(r - 1) = 0 \quad \rightarrow r = \frac{1}{r} \quad \checkmark$$

$$\log_r r = \frac{1}{r} \log_r r = \frac{r}{r}$$

$$\log_r b = \frac{r}{r} (\log_r r + \log_r r) = \frac{r}{r} \log_r r = \log_r r \rightarrow b = r \quad - 9$$

$$\log_r r \times r - 1 = \log_r 1 = 0$$

$$s = \frac{-b}{-ca} = \frac{b}{ca} \rightarrow \frac{ca}{b} = \log_r r = 2 \log_r r \quad \frac{ca}{b} = \log_r r \quad (-1)$$

$$a = \frac{b+c}{r} \quad ca + b + c = b \log_r r \quad c = b(\log_r r - 1)$$

$$\frac{c}{a} = \frac{r(\log_r r - 1)}{\log_r r} = r \times \frac{\log_r r - 1}{\log_r r} = 2 \log_r r$$

$$\left(\frac{1}{r} \right)^{\frac{c}{a}} = \left(r^{-\frac{1}{r}} \right)^{2 \log_r r} = \left(r^{-\frac{1}{r}} \right)^{\log_r r^2} = \left(r^{\log_r r} \right)^{-\frac{1}{r}} = r^{-\frac{1}{r}} = \left(\frac{1}{r} \right)^{\frac{1}{r}} = \frac{1}{r}$$